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QUESTION 1

Which statement is true regarding fail-over?

A. Hardware fail-over is disabled by default.

B. Hardware fail-over can be used in conjunction with network failover.

C. If the hardware fail-over cable is disconnected, both BIG-IP devices will always assume the active role.

D. By default, hardware fail-over detects voltage across the fail-over cable and monitors traffic across the internal
VLAN.

Correct Answer: B

QUESTION 2

Which statement is true concerning cookie persistence?

A. Cookie persistence allows persistence independent of IP addresses.

B. Cookie persistence allows persistence even if the data are encrypted from client to pool member.

C. Cookie persistence uses a cookie that stores the virtual server, pool name, and member IP address in clear text.

D. If a client\\'s browser accepts cookies, cookie persistence will always cause a cookie to be written to the client\\'s file
system.

Correct Answer: A

QUESTION 3

A BIG-IP has two load balancing virtual servers at 150.150.10.10:80 and 150.150.10.10:443. The port 80 virtual server
has SNAT auto-map configured. There is also a SNAT configured at 150.150.10.11 set for a source address range of
200.200.1.0/ 255.255.255.0. All other settings are at their default states. If a client with the IP address 200.200.1.1
sends a request to https://150.150.10.10, what is the source IP address when the associated packet is sent to the pool
member?

A. 200.200.1.1

B. 150.150.10.11

C. Floating self IP address on VLAN where the packet leaves the system

D. Floating self IP address on VLAN where the packet arrives on the system

Correct Answer: B

QUESTION 4
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What is required for a virtual server to support clients whose traffic arrives on the internal VLAN and pool members

whose traffic arrives on the external VLAN?

A. That support is never available.

B. The virtual server must be enabled for both VLANSs.

C. The virtual server must be enabled on the internal VLAN.
D. The virtual server must be enabled on the external VLAN.

Correct Answer: C

QUESTION 5

Which two statements are true about SNATs? (Choose two.)

A. SNAT\W's are enabled on all VLANS, by default.

B. SNAT\\'s can be configured within a Profile definition.

C. SNAT\\'s can be configured within a Virtual Server definition.

D. SNAT\W's are enabled only on the VLAN where origin traffic arrives, by default

Correct Answer: AC
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